

C.31
The IsPresent function


ispresent(in template any_type inpar) return boolean

This function is allowed for templates of all data types and returns:

· the value true if the data object reference fulfils the (present) template restriction as described in clause  Fehler: Referenz nicht gefunden, 

· the value false otherwise.

NOTE 1:
When the argument of ispresent is a subfield of a template field to which the "?" (AnyValue) matching is assigned, the extension mechanism specified in clause Fehler: Referenz nicht gefunden applies.

NOTE 2:
This means that whenever ispresent(MyTemplate) returns true,
- MyTemplate can safely be assigned to a non-optional field of the type of the template in a template 
  variable
- MyTemplate can safely be used as an actual template(present) parameter or assigned to a variable of kind
  template(present). 

The application of the ispresent function to a semantically correct data object reference shall never result in an error, even if using the reference would normally cause a runtime error when being used e.g. in an expression. 

In addition to the general error causes in clause 16.1.2, error causes are: 

· inpar is referring to an alternative in a union value or template. 
EXAMPLE:


// Given  


type record MyRecord 


  {


    record {


      boolean innerField1 optional,


      integer innerField2 optional,


      MyRecord innerField3 optional 

        } field1 optional,




integer field2



}


var MyRecord vl_MyRecord := { field1 := {}, field2 := 5 }


ispresent(vl_MyRecord.field1) // returns true


vl_MyRecord.field1 := omit


ispresent(vl_MyRecord.field1) // returns false


// and therefore, vl_MyRecord.field1.innerField1 is an inaccessible reference

    ispresent(vl_MyRecord.field1.innerField3.field2) // shall return false because innerField3 is

    // unintialized and therefore, vl_MyRecord.field1.innerField3.field2 is an 

    // inaccessible reference


ispresent(vl_MyRecord.field1.innerField1) // shall return false because field1 is omitted


var template MyRecord vlt_MyRecord := { field1 := ?, field2 := 5 }


ispresent(vlt_MyRecord.field1) // returns true


ispresent(vlt_MyRecord.field1.innerField1) // returns false because field1 is AnyValue


// (pls. note, that at expansion of field1 the optional field innerField1 obtains "*" 


// that can match both a present and an omitted field


type record R { integer f1 optional, integer f2 optional } 


template R t1 := {f1 := 1, f2 :=(2 .. 4) } 


template R t2 := { f1 := omit, f2 := (5, 7) ifpresent } 


template R t3 := {f1 := *, f2 :=? } 


ispresent(t1.f1) // returns true 


ispresent(t1.f2) // returns true 


ispresent(t2.f1) // returns false 


ispresent(t2.f2) // returns false


ispresent(t3.f1) // returns false


ispresent(t3.f2) // returns true 


type union U {

      integer i,

      float f

    }

template U u := { i := 5 }


ispresent(u.i) // shall cause an error


ispresent(u.f) // shall cause an error
ETSI


